
PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

JD Z Side Brace L10-1704L11

JD Z side Brace R10-1704R12

JD 7000/ 30-60 Hook10-130213

1

1

2

2

A A

B B

3

2

1

Front Mount Conv.

John Deere

4640 & 4840

With Front Side Weights

Bolt List

QTY Description

Placement

8

3/4 x 2 1/2 Bolts

Saddle to Hook

2

3/4 x 3 1/2 Bolts

Saddle to Hook & side Braces

4

5/8 x 5 1/2 Carriage Bolts

Side braces to Tractor

10

3/4 in Lockwashers

10

3/4 in Nuts

4

5/8 in Lockwashers

4

5/8 in Nuts

Price List
$925.00

Limitations may apply.  Please 
consult API Sales at 800-288-1117

CONV ID:  JD-3060FSW-7882-FM-CONV


